@)

@)

@)

oLa

La

Ya

o o O | N O O 0| 0T
cllg 28| @ |2 @~
«Q o =
o || S8 @2 2|2 0o 1100
(73 5 = T 3 -
sl 2el 28|88 838
brd 3l = | 2| ® | 3| ad| &
< o 3 a| x| 3 ] 2
— o - =] 1) c < 5 =
3 =, [\ =} & | © o S
—_ & = Q*) j28 3 E 1S3
Q c =3 9, o
S K [0) N
Q o &<
c o) (o] N
—_ 0] s o
3 Q o o
[} (@] =] )
e S
«Q
© | 3
]
2 ©
IS 3
% b
0] ~ 1,78 |215,12]216,90 | 216,90
O =3 i - istn. rur. 9200 Ro=214,20
%9
“‘; 9 \ istn. kabel energ. NN 220 Ro=215,91
° K \ istn. kabel teletech. 220 Ro=215,90
@ 9 ¢ 1,60 | 215,17 | 216,77 | 216,77 % chodnik
—_— o
istn. rur. @60 Ro=215,65
1 istn. kabel energ. NN 220 Ro=216,40
33 1,91 215,29 217,20 [ 217,20 \j
N T Tﬂ istn. kabel teletech. 20 Ro=216,45
g5 -
Ep=
wl B
[ istn. rur. 2200 Ro=214,57
=] -_—
|§ *
— istn. rur. 160 Ro=215,35
S
51 ¥ 1,70 |215,65(217,35 | 217,35 f
B
N
‘ﬁ IR
K - istn. rur. 2160 Ro=215,27
N n f \ \ \\ istn. kabel energ. NN 220 Ro=216,60
63 ¥ 1,74 | 215,80 | 217,54 | 217,54 7 = \ istn. rur. 9160 Ro=215,50
2 I\ \ istn. rur. 8160 Ro=215,51
\\ \ istn. rur. @40 Ro=216,00
\ istn. kabel energ. NN @20 Ro=217,00
86 1.64 |216,90 | 218,54 | 218,54 /é;
|w) 99 1.70 |217.65(219.35 | 219,35 f ]
& A
istn. rur. 2160 Ro=217,89
istn. rur. @60 Ro=218,30
lw] 135 1.64 | 219,97 | 221,61 221.61 f ]
~ B istn. rur. @160 Ro=219,74
istn. kabel energ. NN 220 Ro0=221,20
O 155 1,64 | 220,51(222,15 | 222,15 T
®© i
168 1,64 | 220,83 | 222,47 | 222,47 f
T a4
<
¢
IC
[2)
o
Pl
w
N
I &
N
>
N
= 1
210 1,59 [222,60 |224,19 224,19 /%i
o o O | N | O O T
= 3 o Q N N N o
&8 Flele @ @ KN
815 & &/s|5 2 3
(78 5 = T 3
= “lal2]2 3| T3 1:100
Q 3 @ = = = .
7 — Q ] [©] O
< 21 3|e| x| 3|3 =
= o| — =] 1) [ [= 5
3 3. D =) o | © D
—_ & = g*) j28 = E
L =] 3. S o
3 o | 2N =
2 o) a0 < &
c [e) (o] N S
— 0] s o
3 Q| g | &
—_ o =] b
e S
«Q
© | 3
]
2} ©
IS 3
o b
(0]
Opvcinmu 1.70 |217.65(219.35 | 219,35 f
2507 3| / Fa
6
6 [05% 169 |217,68 |219,37 | 219,37 f
T %
<
Q
[
2]
O
P
Wl W
H O
o
[6)]
S
41 ° 1,59 |217.87 [219.46 | 219.46

cla

o




